Backgrounder on capital gains tax cuts

The federal government loses over $2 billion a year from only partially including income from capital gains at 50 per cent, says Tax Expenditures and Evaluations 2005. So, eliminating the capital gains tax presumably would cost about $2 billion annually. The stock option deduction, which follows the capital gains inclusion rate, costs an extra $400 million a year. The cost of these measures would no doubt rise as more people used the loopholes.

The $2 billion in lost revenues could otherwise:

· help to build over 30,000 affordable housing units each year to reduce homelessness and poverty in Canada,

· fund 200,000 truly affordable child care spaces a year,

· fully fund a national needs-based student grant program that would provide $7,000 each to over 300,000 university and college students a year.
“Capital gains” are the profits made from the increase in the value of stocks, shares, property and other assets.  Profits from capital gains, like other forms of income are generally subject to tax, with some exceptions such as for principal residences, farms and small businesses.

The tax on capital gains is half the rate of other earned income, with a capital gains “inclusion rate” to 50 per cent. This means that income received through capital gains are now taxed at a federal rate of 14.5 per cent instead of the top bracket of 29 per cent.  This tax rate is even lower than the lowest federal income tax rate of 15 per cent that now applies to working Canadians. 

Martin reduced the inclusion rate for capital gains to 50 per cent in 2000. He also allowed taxation of stock options to be taxed at the same rate as capital gains, with the tax deferred until the stocks are sold.  These measures led to corporate executives increasingly taking much of their compensation in the form of stock options, which are taxed at the same rate as capital gains when the shares are sold.

The Conservative party platform says that “A Conservative government will: Eliminate the capital gains tax for individuals on the sale of assets when the proceeds are reinvested within six months. Canadians who invest, or inherit cottages or family heirlooms, should be able to sell those assets and plough their profits back into the economy without taking a tax hit.”
This measure will eventually lead to a swift race to the bottom for any taxes on capital and unearned income in Canada, while working Canadians continue to pay tax on their earned income.  

As more and more people use this large loophole, other tax rates on capital income will have to be reduced and it will cost the government more and more in lost revenue.  This will lead to a Conservative government further cutting public services, running a deficit or raising taxes for ordinary Canadians.

Now Harper wants to increase the lowest tax rate that everybody with earned income pays from 15 per cent to 16 per cent, but allow the privileged few who have unearned gains to avoid taxes indefinitely.

Who is going to pay for our public services in Canada?  Under Harper’s plan, it isn’t the wealthy or the highly paid CEOS and executives. They will be able to almost completely avoid federal income taxes.

Harper and other Conservative members of Parliament are now suggesting that their measure would involve a deferral of taxes, but their platform clearly says that they would eliminate the tax for income that is not reinvested.  The money could easily be invested in treasury bills for a short period or flipped through other means.  In this case, the capital gains – and the tax that is paid – from a short term investment would be minimal.

Garth Turner, former Conservative revenue minister under Brian Mulroney and Conservative candidate in Halton, Ont., told the Financial Post on Jan. 18, 2006, that he believes the proposals would also apply to day trading and real estate flips. “As long as the proceeds are reinvested I have to assume that there would be a capital gains holiday’,” he said.
Sandy Cardy, vice-president of taxation and estate planning for Mackenzie Financial Corp, was quoted in the Financial Post on Jan. 18, 2006, as saying “It looks to me like this is a complete abolishment of capital gains tax for investments.”
If, contrary to what the Conservative platform says, it would be a deferral, rather than an elimination of the tax, the wealthy could avoid tax on capital gains until the gains are “crystallized”, perhaps only at the time of death.

The Conservatives plan to further reduce the capital gains inclusion rate.  Their policy book calls for a reduction in the capital gains rate and Garth Turner suggested that the “other shoe” would drop soon. That will bring a “further reduction in the inclusion rate for capital gains.”

If the Conservatives do cut the inclusion rate on capital gains to 25 per cent it will mean that the income that the wealthy make from capital gains is only taxed at a federal rate of 7¼ per cent compared to the 15 to 26 per cent federal rate that applies to working people with earned income.

Amazingly, Harper’s proposal doesn’t even apply to the people that Harper is pretending to help: those who inherit a family cottage or other asset and want to keep it in the family.  Passing on an asset to a relative is considered a “deemed disposition” under the tax laws and it triggers a tax bill. They would still suffer a big tax bill and may have to sell the inheritance.

The proposal would also do little to encourage long-term investment and help the economy.  Instead, it will encourage increasing levels of speculative investments, which will go tax-free under this plan.  In contrast, the United States uses the tax system to discourage short-term speculation and encourage longer-term investments.

The most sensible thing to do for the economy would be to increase the capital gains inclusion rate to 100 per cent, as it is for other income, but index it to inflation.  This would ensure that those who invest and hold on to an asset for the long term don’t suffer as large a tax hit, while short-term speculative investments would be fully taxed.

Harper needs to answer some tough questions on this issue:

· Would taxes on capital gains be deferred, as some of his MPs have suggested, or would they be eliminated, as he has stated and as it is stated in the party platform?

· If they are deferred, when, if ever, would they be taxed and on what basis?

· Would the capital gains from stock options be treated the same way as other capital gains, with the tax eliminated if the funds are reinvested?

· Is he planning to further reduce the capital gains inclusion rate below 50 per cent, as some of his candidates have suggested and as the Conservative Party policy book states?

· Why should ordinary lower and middle-income Canadians pay a higher tax rate on earned income than the wealthy and CEOs pay on their unearned income from capital gains?  Is this fair?
